’@Brahdumpzk@,;

First Try, Firstfuss!  Braindump2go Guarantee All Exams 100% Pass One Time!

» Vendor: Fortinet
» Exam Code: NS0-593

> Exam Name: NetApp Certified Support Engineer ONTAP
Specialist

> New Updated Questions from Braindump2go

> (Updated in October/2022)

Visit Braindump2go and Download Full Version NSE5_EDR-5.0
Exam Dumps

Question:1

Whenyou review performance data for a NetApp ONTAP cluster node, there are back-to-back (B2B)
typeconsistency points(CPs)foundoccurringonthelootaggregate.
In this scenario, how will performance of the client operations on the data aggregates be affected?

A. During B2B processing, clients will be unable to write data.

B. Dataaggregateswill notbe affected by B2B processing onanother aggregate.
C. During B2B processing, all /O tothe node s stopped.

D. During B2B processing, clients willbe unable toread data.

Answer:B

Explanation:

Question:2

Recently, a CIFS SVM was deployed and is working. The customer wants to use the Dynamic DNS
(DDNS) capability available in NetApp ONTAP to easily advertise both data UFs to their clients.
Currently. DNSisonlyresponding with one data LIF. DDNSis enabled onthe domain controllers.
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vserver liz data-protocol la-dns-update-enabled
svml cifs 0! nfs,cif= Trus=

avml cifa 02 cifas true

svml mgme none false

J entries were displayed,

clusterl::*> vaerver nervices dns dynamic-update show
Vserzver Is-Ensbled Use-Securs VYserver PQIN TTL

G wlee  Sey  awilaeease 2an
Referring to the exhibit, which two actions should be performed to enable DDNS updates to work?
(Choose two.)

A. Disablethe-vserver-fqdnparameterforthe SYMDDNSservices.
B. Removethe NFSprotocolfromthecifs_01datalLlIF.

C. Enablethe-use-secure parameterforthe SVM DDNSservices.

D. Enablethe-is-enabled parameterforthe SYM DDNSservices

Answer: A,D

Explanation:

NS0-593 Exam Dumps NS0-593 Exam Questions

NS0-593 PDF Dumps NSO0-593 VCE Dumps

https://www.braindump2go.com/ns0-593.html



https://www.braindump2go.com/
https://www.braindump2go.com/ns0-593.html
https://www.braindump2go.com/ns0-593.html
https://www.braindump2go.com/ns0-593.html
https://www.braindump2go.com/ns0-593.html
https://www.braindump2go.com/ns0-593.html
https://www.braindump2go.com/

72) Braindump 7o

First Try, Firstfuss!  Braindump2go Guarantee All Exams 100% Pass One Time!

Question:3

A customer is calling you to troubleshoot why users are unable to connect to their CIFS SVM.

Cluster8::*> storage= disk show ~bzok=n

Original Cwner: NodeD31
Chacksum Compatibility: block

Drawer Usable
Physical
ok Sutage Reassn HA Shelf Bay /Slot
Chan Pocl Type RPM Size Size
1.0.2 failed 3e 0 2 =/= B
FATLED RJIAS 7200 1.6218 1.627TE
ClusterB: : *> cluster ring show
Node UnitName Epoch DB Epoch DB Trnxs Master Cnlin=
Node(3 momt 11 1l 4375 Node04 secondary
Nodel(3 vildb 0 11 338 = offiine
Nod=03 1& 11 11 4592 Node04 secandary
Node (3 11 i1 (3 Nodel$ gecondary
Noda(2 11 11 3 NodeD4 ascondary
Node=(C4 11 i1 4375 Node04 master
Node04 vldb 0 11 358 - offline
Nod=04 vifmgr 11 11 4852 Node(4 master
Node(4 ocomd 11 i1 62 ¥odel4 maeter
NodaD4 cra 11 11 € NodeD4 mastar
10 entries wers displayed.
Clusterd::*> system ncde tun -node Noded4 -command aggr status —-r aggrl
Agareqate aggrd (online, raid_dp, degraded) (block checkaums)
Blex /aggr2/plex0 (online, normal, active, pool0)
RAID group /agyr2/plax(/rgld (degraded, block checksums)
BAID Disk Device ML SHELY BAY OMAN fool Type REM Us=d (MB/blks) Ehya
(MBfklXka)
dparity FATLED N/A 2523546/ -
parity 3c.0,11 3¢ 0 11 3A:B 0 B3as 200 2538546/5158943744
2543€34/5209362315
data 3c.0.12 3c 0 12 Sn:hs C HBS3x8 7200 2539548/5138543744
2543634/52093¢€2816
data 3c.0.13 e ] 13 8a:B 0 Bsxs 7200 25323546/513980943744
2543€34/520595¢625818
data 3c.0.14 k. 0 14 8a:B 0 H#H8Rs 7200 25293546/5198943744

2543634/5205362316

Referring to the Information shown in the exhibit, what Is the source of the problem?

A. Thevldbdatabaseisoffline.
B. The aggregate aggr2 hasafailed

disk.

C. Thedatabases OnNode03 must be Switched from secondary to master.
D. The broken diskin Node03 is the source of the problem.

Explanation:

Answer:C
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Question:4

You have a customer who is concerned with high CPU and disk utilization on their SnapMirror
destination system. They are worried about high CPU and disk usage without any user operations.
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In this situation, what should you tell the customer?

A. Suggestthatthe customer manually cancel any scannersonthe destinationtoreduce CPU usage.
B. ExplainthatbackgroundtaskssuchasSnapMirrorthrottle upinthe absence of user workload.

C. Suggest that the customer throttle their SnapMirror relationships to reduce resource consumption.
D. Explainthatonly user workload should use the CPU and Investigate further.

Answer: A

Explanation:

Question:5

Youare attempting to connect a NetApp ONTAP cluster to a very complex network that requires LIFs
tofailoveracrosssubnets.
How would you accomplish this task?

A. Configureanequal numberof UFsoneachsubnet.

B. Configure VIP LIFs using OSPF.

C. Configure VIP LIFs using BGP.

D. Configure allFfailover policy for each subnetinside a single broadcast domain.

Answer:C

Explanation:

Question:6

Which two statements about NetApp Cloud Volumes ONTAP licenses ate true? (Choose two.)

A. HavinganEssentials package enablesyoutoconverttoanotherlicensing option.
B. Capacity-based license packages support only single-node configurations.

C. BYOLlicensesarepurchaseddirectlyfromNetApp.

D. AWSMarketplace contractscannotbe mixed withBYOL.

Answer: B,C

Explanation:

Question:7

Your customer complains that u host will constantly reportlosing aconnectiontotheiSCSltarget and
thenreportthatthesessionwasreestablished.
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Tue Sep 08 16:13:26 COT [PRD-NTAP-01: iswti facsip thread: iscsi.notice:notice]: I3C8
seasion from initiator igqn.1951-05.com.microsoftiprd-app—-01.netapp.com at IP adde 172
Tue Sep 04 16:13:26 20T [FRD-NTAP~01l: iswti 2 3 L £

gagepion requeat from initisteor ign.iSS1-035,
this initiator already exiacs.

Tue Sep 0§ 16:15:02 CDT [PRD-NTAP-01: iawti iscsip thread; iscsi.notice:notice]: ISCS
seasion from initiator iqn.1991-05.c 1.miﬁr?nrf::p;i-nrp—ﬁt.nrtnnp.crﬂ at IF addr 10.
Tue 8ep 04 16:20:05 CDT [PRD-RIAP-01: isw:;_;::sip_znx:ad: iscsi.werningiwarning]: LS
seapiosn request from initiator igqn.1991-05.com.microscftiprd-app-0i.netapp.com, a ass
this Initiator already exists.

Tue Sap 04 16:20:11 COT [PRD-NTRP-01: iawti iscsip thread: isc
microscft:prd-app-01

ai.noticeinotical: I8CS
tapp.com at 1F addre 10.
s

Tue Sep 04 1€:20:11 CDT [PRD-NTAP- lawti Isceip thread: i l.wazningrwarning): IS
seanion requeat from initiasor iqt.i?%l—ﬁ%.;‘m.min;ﬁafft:rrﬁ-nrp~51.necapy.rtm, a8 ans
thi= initiator alresdy exists,

Tue Sep 04 1€:20:45 CDT [PRD-BTAP-01: jawti_iscaip thread: iscesi.notice:notice]: ISCE
session from initiator ign.1551-D5.com.microsoft:prd-appr0l.netapp.com at IE adds 172

As shown in the exhibit, what is a cause of this flapping?

A. AhostwithanIPaddressof172.20.10.80 and a second host withan IP address 0f 10.10.20.60
havethesamelQN.

B. A host withanIP address of 172.20.10.80 and a second host with an IP address of 10.10.20.60 are
in different initiator groups.

C. Ahostwith anIP address 0f 172.20.10.80 and a second host with an IP address of 10.10.20.60 are
accessingthesameLUN.

D. AhostwithanIP address of 172.20.10.80 and a second IP address of 10.10.20.60 is accessing
different LUNS.

Answer:C

Explanation:

Question:8

Astorage administrator reports that a monitoring toot is reporting that the storage controller reads
between 90% to93% CPU use. Yourunthe sysstat -m command against the node in question.
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Referring to the exhibit, which statement is correct?

A. The customershould be advisedto exclude certain workflowstoreduce use.

B. High network exempt use could be aproblem.

C. Youshouldimmediatelyinvestigate furtherbygathering perfstatdataandopeningasupportcase.
D. The CPU Isnotafirst-order monitoring metricfor ONTAP.
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Answer:C

Explanation:

Question:9
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You have a 4-node NetApp ONTAP 9.8 cluster with an AFF A400 HA pair and a FAS8300 HA pair with
16 TB NL-SAS drives. You are asked to automatically tier 150 TB of Snapshot copy data from the AFF
A400 aggregates to the FAS8300.

In this scenario, which ONTAP license must be added to the cluster to accomplish this task?

A. S3 license

B. VElicense

C. TPM license

D. FabricPool license

Answer:C

Explanation:

Question: 10

Your customer Informs you about SnapMlrror problems after upgrading NetApp ONTAP softwaretoa
newer version. After investigating the event logs and the SnapMirror history, you see information
about delayed updates of the SnapMirror relationships.

How would your customer prevent such problems in the future?

A. Quiesce the SnapMirror relationships before upgrading the ONTAP software.

B. Verifythatthe cablingofthe hardware portthatisresponsiblefor SnapMirrortransfersiscorrect.
C. ModifytheschedulesoftheSnapMirrorrelationshipsafterupgradingthe ONTAPsoftware.

D. DeletetheSnapMirrorrelationshipsandcreatethemnewafterupgradingthe ONTAPsoftware.

Answer:B

Explanation:

Question: 11

A customer enabled NFSv4.0 on an SVM and changed the client mount from NFSv3 to NFSv4.
Afterwards, the customer found that the directory owner was changed from root to nobody.
In this scenario, which statement is true?

A. The customer did not configure name servicesonthe SVM.

B. Theclients must berestartedtostart using NFSv4.

C. Theexportpolicyisnotconfigured properly.

D. The ID mapping domains do not match between the clientandserver.

Answer:C

Explanation:
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Question: 12

You have a NetApp ONTAP cluster consisting of four NetApp FAS8200 controllers with two NetApp
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CN1610 cluster switches running ONIAP 9.8 software. You
are receiving several alert messages stating that the cluster network has degraded. After
troubleshooting, you determine that the errors are being generatedfrom Node 2, interface eOb.

In this scenario, what should you do first to solve this problem?

A. Replacethe Twinaxcable between Node 2, Interface eOb.andthe NetApp CN1610switch.
B. ReplacethemotherboardonNode 2.

C. Replace both NetApp CN1610 switches.

D. Replacethe NetApp CN1610switchthatconnectstoNode 2, interface eOb.

Answer: B

Explanation:

Question: 13

Your customer has mounted an NFS SVM from a Linux client unci performance is very poor. The
customeris certain thatthey have jumbo frames enabled. They have verified an MTU of 9000 on
boththe Linuxclientand the broadcast domain onthe NetApp ONTAP 9.8 cluster.

clusterl: ;%> netwosk interface show ~vsezver svml clusterzl
Logical gtatus Network current Current Ia
Vsezver Intarface Admin/Oper Address/Mask Node Bort Home

svml clusterl

cifs 01 up/up 192.163.0.131/24 clusterl-01 e0L true
cafs 02 up/up 192.168.0.132/24 cluateri-02 e0f True
jumbo- 01 up/up 152.168.0.201/24 clustexl-01 =0g trus=
jumbojﬁ? up/up 192.168.0.202/24 cluateri-DN2 alg True
mgmt up/up 152.16E8.0.130/24 clustexl~0l eCc true

5 entries were diaplayed.

clusterl::*> petwozk port broadcast-domain show —bzoadcast-domain Jumbo

IPaprce Jvoadcast Update
Name= Domazn Name MTJ Port List Status Detasls
Jefault Jumbco 3000

clusteri-02:e0f

clusteri-02:aly complete

Referringtothe exhibit, which ONTAP command will helpisolate a possible MTU mismatch?

network ping -1if jumbe 01 -vserver svml_clusterl -destination 1%2.168.0.210 -
disallow-fragmentation false -packet-size 1000

network ping. ~11f jumbo 01 -vserver svml_cluaterl -deatination 192.168.0.210
disallow-fragmsntation true -packat-size 9000

network ping -1if jumbo 01 -vssrver svml clusterl -destination 152.168.0.210 -
diszllow-Iragmsntation trus -packet-sizs 1007

D.
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network ping —1if jumbe 01 -vserver svml clusterl -dsstination 1%2.168,0,

dissllaw-fraqmanﬂatiun true —-packet-size 5000

Answer: B
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Explanation:

Question: 14

You have a customer complaining of long build times from their NetApp ONTAP-based datastores.
They provided you packet traces from the controller and client. Analysis of these traces shows an
average service response time of 1 ms. QoS output confirms the same. The client traces are reporting
anaverage of 15 msin the same time period.

In this situation, what would be your next step?

A. Theclusterisrespondingslowlyandrequiresfurtherinvestigationusing performancearchives.
B. Theclientthatreportshighlatencyshouldbeinvestigated.

C. The cluster interconnects should be investigated.

D. Asynccoreshould betriggered.

Answer:B

Explanation:

Question: 15

Your customer wants to access a LUN on a FAS 8300 system from a VMware ESXi server through the
FC protocol. They already created a new SVM, volume. LUN, and igroup for this purpose. The
customer reportsthat the server's FCHBA port s online, but the LUN does not show up.

ell::> yesezver fcp show ~vaezver JVNM1
Vaorvyer Name: SVHL
Target Name: 20:04:00:a0:56:a7tca:l

Adminiastrative Status: up

0ll::> lun show —veerver SVMI

SVML [vol/esx/datastore, lus sExserver 0 fcp
cll::> vmecyer fcp initistor show —vyserves SVM1
This table is currentiy ampty.

Referring to the exhibit, what is the reason for this problem?

A. The FCservice has not been configured onthe SVM.
B. Thezoningonthe FCswitcheslIsIncorrect.
C. The LUNIs not mappedtothe correct SCSIID.
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D. The esxserver igroup contains incorrect IQNs.

Answer:C
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Explanation:

Question: 16

You recently discovered the error message shown below in your ONTAP logs.

[wafl.incons.userdata.vol:error]: WAFL incansistent: volume my data vol

What should be your first action to correct this Issue?

A. Power cycle all the disk storage shelves that contain drives of the aggregate withthe my_data_vol
volume.

B. Determine the root cause behind the inconsistency before attempting any recovery procedure.

C. Usethestoragetakeovercommandonthestoragecontrollerthatcontainsmy_data_vol.

D. Usethe waflironcommandagainstmy_data_voltosolvetheinconsistency onthevolume.

Answer: A

Explanation:

Question: 17

Whenanadministratortriesto create ashareforanexisting volume namedvoll, the processfails
withanerror.
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clusterl::> vaervezr cifs share create -vsezver svml -shaze-name voll -

pash /9oll

command failed: The specifiesd path "/woll" does not exist in the nazespace belo
“aunmi®,

clusterl:t> vaasrver cifs share show

Vaexrver Shazre Fath Properties Comment ACL
avml adminS / browgable - -
=yml cé / oplocks= BUILTIN\Admi
Full Control
browaable
changsnotify
show-previous-veraions
syml ipcé / browsable - =
J =ntries were displayed.
clustarl::> vssrver cifs shos
Sarver Status Domain/Workgzoup Authsntication
Vaerver ¥ame Admin Name style
svmi sl up DEMO domain

Vaerver Name: swml
Volume Name: wall
Aggregate Name: clustecl 01 33D 1
Iiat of Aggregates for FlexGroup Constituenta: clusteri_01_ 88D 1
Encryption Type: nane
Liar of Nodes Hosting the Volume: clusteri-01
Volums Bize: 20M3
Name Ordinal: base
Volume Data Set ID: 1028
Volume Master Data S8et ID: 21623751¢8
Volume Statae: online
Volume Style: flex
Extended Volume Style: flexvol
PlaxCache Endpaint Type: mone
Is Cluster-Mode Volume: trus
Ia Caonatituent Velume: falase
Expozt EBclicy: default
User ID: —
Group 1D:
Security Style: -
UNIX Permissions: ——-—————————v
Junction Path: —
Junction Path Source: -
Junction Active: -
Junction Parent Volume: —
Junction Active: true
Junction Parent Volums: svml root
Vaerver Root Volume: false
Comment :
Available Size: 15.76MB
Pilesystaxm Jize: 20M3
Total User-viaible 2ize: 19M3
Used B1ze: 244X5
Usad Percentage: 1%
Volums Tiering Policy: none
VYolume Tiering Minimum Cooling Days: -
Pecformance Tier Inactive User Data: —
Ferformance Tiey Inactive User Data Fercent: -

Referring to the exhibit, what Is the reason for the error?
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First Try, Firstfuss/ Braindump2go Guarantee All Exams 100% Pass One Time!

A. The volume must have a type of DP.
B. Thevolume has not been mounted.

C. The CIFSserviceis notauthenticating properly withthe domaincontroller.
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@BraindumpZ;g:

D. The CIFS serviceis notin workgroup mode.

Answer:B

Explanation:

Question: 18

The motherboard of Node-01 is being replaced. To perform this task, a takeover was Initiated from
Node-02.Node-02 panicsshowingthestringbelow.

PANIC; Permanent errors on all HA mailbox disks (while marshalling header) in SKprocess
fnmbx_instanceWorker on release 9.5P8 (C)

What has happened in this situation?

A. Whileinmaintenance mode, the sldiag device show command was executed.

B. Whileinmaintenancemode, thefcadmindevice_mapcommandwasexecuted.
C. Whileinmaintenance mode, the HA_configshow command wasexecuted.

D. Whileinmaintenance mode, the mailbox destroylocal command was executed.

Answer: B

Explanation:

Question: 19

You are deploying NetApp ONTAP Select. When trying to add VMware vCenter to the inventory, you
receivethemessageshownbelow.

Credential authentication failed for x.x.x.x with: HostConnectionFailed

In this scenario, how would you correct this problem?

A. Change the vCenter password.

B. Changethe P address of the ONTAP Select Deploy VM.

C. Changethegatewayaddressofthe ONTAP Select Deploy VM.
D. Changethe IPaddress of the vCenter server.

Answer: A

Explanation:

Question: 20

You created a new NetApp ONTAP FlexGroup volume spanning six nodes and 12 aggregates with a
total size of 4 TB. You added millions of files to the FlexGroup volume with a flat directory structure
totaling 2TB, and you receive an out of apace error message onyour host.

What would cause this error?
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A. Themaximum number of volume constituents hasbeenreachedinthe ONTAP software.
B. Allconstituentvolumesarefull.
C. Theinodelimitisexceededinthe ONTAP software.
D. The
maxdirsiz
els
exceede
dinthe
ONTAP
software.

An
swer:C

Explanatio
n:
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